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Class: XII

Maximum Marks: 70
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General Instructions:

1. This question paper contains two parts A and B. Each part is compulsory.

2. Both Part A and Part B have choices.

3. Part-A has 2 sections:

a. Section – I is short answer questions, to be answered in one word or one line.

b. Section – II has two case studies questions. Each case study has 4 case-based sub-parts. An examinee is to attempt any 4 out of the 5 subparts.

4. Part - B is Descriptive Paper.

5. Part- B has three sections

a. Section-I is short answer questions of 2 marks each in which two question have internal options.

b. Section-II is long answer questions of 3 marks each in which two questions have internal options.

c. Section-III is very long answer questions of 5 marks each in which one question has internal option.

6. All programming questions are to be answered using Python Language only
	
	Part-A
	

	Q No
	Section-I

Select the most appropriate option out of the options given for each question. Attempt any 15 questions from question no 1 to 21.
	Marks

	1
	Find the valid identifier(s) from the following

(i) Delhi    (ii) Mumbai   (iii) Delhi Mumbai   (iv) Delhi&Mumbai
	1

	2
	Given the lists P=[1,5,9,12,15,71,101,29,75] 

write the output of print(P[2:7])
	1

	3
	Which of the following is not a valid mode to open a file?

(i) ab    (ii)  rw    (iii)  r+   (iv)  w+
	1

	4
	Identify the valid logical operator in Python from the following. 

(i) +    (ii)  >    (iii) or     (iv) **                    
	1

	5
	Suppose a tuple P is declared as P = (29, 12, 45, 74), what will be the output of print(P*3) 


	1

	6
	Write the output of following code:

R={'Ram':24,'Laxman':26} 

print(R.keys())
	1

	7
	Write a statement in Python to declare a dictionary “D” whose keys are 1, 2, 3, 4 and values are East, West, North and South respectively.
	1

	8
	A tuple is declared as P = (10,15,6,85,74).

Will the following code work? 

P[1]=50
	1

	9
	Name the built-in mathematical function / method that is used to return an absolute value of a number. 
	1

	10
	Name the protocol that is used to display web pages.
	1

	11
	Identify the type of cybercrime for the following situations:  

A person complains that Rs. 4.25 lacs have been fraudulently stolen from his/her account online via some online transactions in two days using NET BANKING.
	1

	12
	Which command is used to see the structure of existing table?
	1

	13
	A virtual table is called a ……?
	1

	14
	Which clause is used in query to place the condition on groups in MySQL?
	1

	15
	What is the use of Bridge in the network?

(i) To connect LANs (ii) To separate LANs 
(iii) To control network speed (iv) All of the above
	1

	16
	State whether the following statement is True or False. 

Function can alter only mutable data types.
	1

	17
	What will be the output of the following code? 

def Calculate(A, B, C): 

       return A*2, B*2, C*2 

val = Calculate(10, 12, 14) 

print(type(val)) 

print(val)
	1

	18
	What is the default order of ORDER BY clause?
	1

	19
	Write the expanded form of ARPANET.
	1

	20
	Which command allows us to perform tasks related to data definition? 

(i) DDL (ii) DML (iii) TCL (iv) None of these
	1

	21
	Which of these is not a communication channel? 

(i) Satellite (ii) Microwave (iii) Radio wave (iv) Wi-Fi
	1

	
	Section-II
Both the Case study based questions are compulsory. Attempt any 4 sub parts from each question. Each question carries 1 mark 
	

	22
	A society wants to organize a game event for players. They want to maintain their records using SQL. As a database administer, Dronacharya has decided that :

· Name of the database – IPL

· Name of the table  - Games

· The attributes of Games are as follows:

GCode – numeric

GameName – character of size 20

Players – numeric

PrizeMoney – numeric

GCode

GameName

Players

PrizeMoney

101

Carom Board

2

5000

102

Badminton

2

12000

103

Table Tennis

4

8000

105

Chess

2

9000

108

Lawn Tennis

4

25000

1. Identify the best attribute which may be declared as Primary key.

2. Write the Degree & Cardinality of the relation Games.

3. Write SQL query to display the minimum Prize Money.

4. Write SQL query to increase all the Prize Money by 1000.

5. Dronacharya wants to see the Total number of players, help him to write a SQL query. 
	1

1

1

1

1



	23
	PGT CS of KV is writing a program to create a CSV file “fit_india.csv” which will contain user name and password for teachers. He has written the following code. As a programmer, help him to successfully execute the given task. 

import _____________                                       # Line 1 

def addCsvFile(UserName,PassWord): # to write / add data into the CSV file 

    f=open(' fit_india.csv','________')                      # Line 2 

    newFileWriter = csv.writer(f) 

    newFileWriter.writerow([UserName,PassWord]) 

    f.close() 

#csv file reading code 

def readCsvFile():           # to read data from CSV file 

    with open(' fit_india.csv','r') as newFile: 

    newFileReader = csv._________(newFile)     # Line 3 

    for row in newFileReader: 

         print (row[0],row[1]) 

     newFile.______________                              # Line 4 

addCsvFile(“suresh”,”kv@sur”) 

addCsvFile(“gopal”,”kv@gop”) 

addCsvFile(“mohar”,”kv@moh”) 

readCsvFile()                                                            #Line 5

1. Name the module he should import in Line 1.

2. In which mode, he should open the file to add data into the file (Line 2).
3. Fill in the blank in Line 3 to read the data from a csv file. 

4. Fill in the blank in Line 4 to close the file. 

5. Write the output he will obtain while executing Line 5. 
	1

1

1

1

1

	
	Part–B
	

	
	Section-I
	

	24
	Evaluate the following expressions:

a) 8/4+4**2//5%2-8
b) 10 >= 5 and 7 < 12 or not 13 == 3
	2

	25
	What are the various types of networks?

                         Or

Differentiate between FTP and HTTP.
	2

	26
	Expand the following terms: 

(i) IMAP  (ii) GSM (iii) PSTN (iv) VoIP
	2

	27
	Differentiate between actual parameter(s) and a formal parameter(s) with a suitable example for each. 

OR

What is scope of a variable in python and write basic scopes of variables in Python. 
	2

	28
	Rewrite the following code in python after removing all syntax error(s).       

 (2)

Underline each correction done in the code.

S=’Python program’

L=length(S)

for i in range[L]:

    if i%2=0:

        print(S[i])

    else 

        print(i)


	2

	29
	Write the possible output (expected on screen out of (i) to (iv)) and write the maximum and minimum values for the variable T  












import random

NUM = [75,95,35,15]

T=random.randint(0,len(NUM))

for r in range (T):

    if (NUM[r] % 3==0):

       print(NUM[r], end="#")

(i) 75#15#
(ii) 75#

(iii) 75#95#

(iv) 75#95#35#15
	2

	30
	Differentiate between WHERE and HAVING clause.
	2

	31
	Define the following terms with example: Field, Record.
	2

	32
	What is a NOT NULL constraint?
	2

	33
	Write the output of the following code






def CALL1(M):

t1 = M%10

t2 = M%100

t3 = t1+t2

t4 = CALL2 (t3)

return t4

def CALL2(N):

a1=N/2

a2=a1 + N//3


return a2

answer=0

answer=CALL1(1234)

print(answer)

answer=CALL2(5678)

print(answer)


	2

	
	Section- II
	

	34
	Write function in python reverse(x) which accepts a list x of numbers and display elements in reverse order such that each displayed element is twice of the original element of list x 
Example: If list x has elements  

              4     8    7    5     6     2     10

output should be displayed as :-
20   4    12   10    14    16     8
	3

	35
	Write a function in python to read lines from text file ‘MATCH.TXT’ and display those lines which starts with alphabet ‘P’.

                                               OR

Write a Python code to find out the size of the file in bytes, number of lines and number of words.


	3

	36
	Write the outputs of the SQL queries (i) to (iii) based on the relations TRAVEL and VEHICLE given below: 

Table: TRAVEL
NO

NAME

TDATE

KM

CODE

NOP

101

Arjun

2020-02-18

100

101

32

102

Bhim

2019-06-06

65

101

45

103

Abhimanyu

2018-10-09

32

104

42

104

Subhadra

2020-10-30

55

105

40

105

Sudama

2019-12-15

47

103

16

106

Deepak

2018-02-26

82

103

9

Table: VEHICLE

CODE

VTYPE

PERKM

101

VOLVO BUS

160

102

AC BUS

150

104

ORDINARY BUS

80

103

CAR

25

105

SUV

40

(i)      SELECT COUNT (*), CODE FROM TRAVEL GROUP BY CODE HAVING        COUNT(*)>1;

(ii)      SELECT DISTINCT CODE FROM TRAVEL;

(iii) SELECT A.CODE,NAME,VTYPE FROM TRAVEL A,VEHICLE B WHERE   A.CODE=B.CODE AND KM<80;


	3

	37
	Write a function in Python PUSH(Arr), where Arr is a list of numbers. From this list push all numbers which are ODD into a stack implemented by using a list. Display the stack.

                                   OR 

Write a function in Python POP(Arr), where Arr is a stack implemented by a list of numbers. The function returns the value deleted from the stack. 


	3

	
	Section-III
	

	38
	ABC Pvt Ltd is setting up the network in Chennai. There are four blocks- Block A, Block B, Block C & Block D

[image: image1.png]



Distance between various blocks are given below:

Block

Distance

Block A to Block B

75 m

Block A to Block C

170m

Block A to Block D

100m

Block B to Block C

120 m

Block B to Block D

130 m

Block C to Block D

50 m

Number of computers in each block are given below:

Block

No. of computers

Block A

105

Block B

33

Block C

45

Block D

22

(i) Suggest the most suitable block to place the server with a suitable reason. 


(ii) Suggest the cable layout for connections between the various blocks.

(iii) Which device will you suggest to be placed/installed in each of these blocks to     efficiently connect all the computers within these blocks? 

(iv) Suggest the placement of a Repeater in the network with justification. 

(v) The organization is planning to link its front office situated in the city in a hilly region where cable connection is not possible. Suggest an economic way to connect with reasonably high speed.


	5

	39
	Write SQL queries for (i) to (v), which are based on the table: PRODUCTS and SUPPLIERS

Table: PRODUCTS
PID 
PName 
QTY 
Price 
COMPANY 
SUPCODE 
101 

DIGITAL CAMERA 14X 

120 

12000 

RENIX 

S01 

102 

DIGITAL PAD 11i 

100 

22000 

DIGI POP 

S02 

104 

PEN DRIVE 16 GB 

500 

1100 

STOREKING 

S01 

106 

LED SCREEN 32 

70 

28000 

DISPEXPERTS 

S02 

105 

CAR GPS SYSTEM 

60 

12000 

MOVEON 

S03 

Table: SUPPLIERS 
SUPCODE 
SNAME 
CITY 
S01 

GET ALL INC 

KOLKATA 

S03 

EASY MARKET CORP 

DELHI 

S02 

DIGI BUSY GROUP 

CHENNAI 

(i) To arrange and display all the records of table Products on the basis of product name in the ascending order. 

(ii) To display product name and price of all those products whose price is in the range of 10000 and 15000 (both values inclusive).

(iii) To display the price, product name and quantity (i.e., qty) of those products which are having quantity more than 100.

(iv) To display the names of those suppliers who are either from DELHI or from CHENNAI.

(v) To display the maximum and minimum price of product.  


	5

	40
	Given a binary file “emp.dat” has structure (Emp_id, Emp_name, Emp_Salary). Write a function  countsal() in Python that would read contents of the file “emp.dat” and display the details of those employee whose salary is greater than 20000. 

                           OR

A binary file “Stu.dat” has structure (rollno, name, marks). 

i) Write a function in Python add_record() to input data for a record and add to Stu.dat. 

ii) Write a function in python Search_record() to search a record from binary file “Stu.dat” on the basis of roll number. 


	5


